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Derivatives EX 30.1 Q1

Wehave,
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Derivatives EX 30.1 Q2

wehave,
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Derivatives EX 30.1 Q3

Wehave,
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Derivatives EX 30.1 Q4

Wehave,
fOx)=x
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Derivatives EX 30.1 Q5

Wehave,
f(x)=cosx
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Derivatives EX 30.1 Q6

Wehave,
f(x)=tanx

w FYa) = ”_';"o f(a+h’3— f(a)
lim f(0O+h)- f(0)
b0 R

. tanh-tanO
= |im —

h=0 h

tan h
=0 h

. [ lim 3309 1]
=0 &

. FY0)=




2 FY(0)=1

Derivatives EX 30.1 Q7(i)

Wehave,
f(x) = sinx
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Derivatives EX 30.1 Q7(ii)

Wehave,
f(x)=x
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Derivatives EX 30.1 Q7(iii)

Wehave,
w f(x) = 2cosx
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Derivatives EX 30.1 Q7(iv)
Wehave, f(x)=8n2x
Therefore,
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